1. (24 points) Each of the following parts is worth 6 points

(a) Use a u-substitution to help you find / \/;Té dz
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(b) Multiply by 1 to help you find / dz
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(¢) Complete a square to help you find / m dz. DO NOT SIMPLIFY YOUR ANSWER.
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(d) Short answers.

i) State an identity that allows you to convert the integrand of / sinx e dr to tanz.
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Evaluate the following integrals. Do not simplify your answers.

2. (10 points) / z(1 — z%)*? dzx
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4. (10 points) / y?sin"!ydy (DO NOT SIMPLIFY YOUR ANSWER)
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5. (10 points) /ﬁdw
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6. (10 points) Use partial fractions to evaluate / iy dez. (DO NOT SIMPLIFY YOUR ANSWER)
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7. (10 points) Solve for @ in the following initial value problem. Show all your work.
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8. (16 points) Evaluate each of the following improper integrals or show that it diverges.
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